GREY GROUP

1a. Hotsa is buying wooden files for all the
downstairs rooms in her house,

The area of each file is 1m?.

Hafsa thinks thaf she needs 25 files.
Is she comect? Explain your answer.

7

Nof o scole

|t

1b. Chuan is buying foor files for the
school hall

The area of each file is Tméd.

Chuean thinks he needs to order 27 files.
I5 he comeci? Explain your answer.
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2a. This rectangle has an area of 12cm?.
Find other possible lengths and widths

which give the same area.

Find 2 possible answers.
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2b. This rectangle has an area of 14cms.
Find other possible lengths and widths
which give the same area.

Find 2 possible answers.
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3a. lwcy has calcukated the area of a
rectangle.

The areqa of this reclangle is
Z0cm? becauvse 3cm x Fom =
20cm®.
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Is Lucy comrect? Frove i

3b. Cian has estimated the oreo of o
reciangle.

The estimated area of this
LI rectangle is 18cm?® becouse
: 1 2cm X fom = 18cme.
Cian
1cm
i
:IEI'H

Is Cian correci? Frove it
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GREEN GROUP

da. Mirs Kelly is buying hurf files for the
playing field af school.

The area of each file is ZméE.

Tim

sirs Kelly thinks she needs to order 50
files.

I5 she comect? Explain your answer.
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4db. Ben is buying tur kiles for his gorden.

The area of each file is 3méE.

2.1m

Ben thinks he needs fo order 7 files.
Is he comect? Explain your answer.

i
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5a. & rectangle hos an area of 3écm?.
what could the dimensions be?

Areg = 34cm?

Find 3 possible answers.
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5b. & rectangle hos an area of Z4cm.
what could the dimensions be?

Areaq = 24cm?

Find 3 possible answers.
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4a. 3inead has estimated the area of a
rechangle.

The estimated area of this
reclangle is F4cm? because
Bcm x 1Zcm = F4om2.
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Sinead

&.Fom

12.4Cm
Is Sinead comrect? Frove it.
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4b. Josh has estimabed the area of o
rechangle.

The estimated area of this
rectangle is 24cm® because
dcm X &cm = 24cm?.

J.6cm

&.4cm
Is Josh comect? Frove if.
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GOLD GROUP

7a. Gabriel is creating @ mosaic that has
an area of approximately 4d0cm?. He
wants to use two different files.
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H he uses 10 of tile B, he thinks he will be
able to use 3 file A's in the remaining
areq.

Is he correct? Explain your answer.
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7b. Isabel is creating a pattern that has
an area of approximately 472cm?. she
wants bo use hwo difkerent files.
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i she uses 5 of lile A, she thinks she will be
able ta use 8 file B's in the remaining
aned.

15 she comect? Explain your answer.
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aa. Two rectangles have a combined
area of approximately 10cma.

what could the dimensions of each
rectangle be?

The rectangles have dilerent areas. At
least one rectangle has a side which is a
decimal number.

Find 3 possible answers.
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ab. Two rectangles have a combined
area of approximately 25ma.

what could the dimensions of each
rectangle be?

The rectangles have different areas. At
least one rectangle has a side which is a
decimal number.

Find 3 possible answers.
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va. Alice has made a large rectangle
using multiples of the rectangles below.

e

"
w I can use six reciangles bo create
' a large rectangle with an
- opproximate area of fFeem®.
Alice
1oem A
1Lham
3.3em B

5.hcm
Is Alice comect? Prove it
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#b. Johnny has made a large rectangle
using multiples of the rectangles below.

| ean wie nine rechangkes fo

creale o lange rechangle with an
opprozimobe orea of 128cmi.

Johnny

TAEm B

2amm .

T.Bem
Is Johnny comect? Prove it.
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